
N = 157

157 circles in a 1x0.20000 rectangle

radius =   0.018631505480
ratio  =  10.734505604752

density  = 0.856082120104
contacts = 171

 E.SPECHT
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N = 158

158 circles in a 1x0.20000 rectangle

radius =   0.018555601980
ratio  =  10.778416146894

density  = 0.854529501091
contacts = 273

 E.SPECHT
09-JUL-2010

N = 159

159 circles in a 1x0.20000 rectangle

radius =   0.018529472434
ratio  =  10.793615453247

density  = 0.857517733626
contacts = 328

 E.SPECHT
09-JUL-2010

N = 160

160 circles in a 1x0.20000 rectangle

radius =   0.018376963610
ratio  =  10.883190729894

density  = 0.848764819865
contacts = 319

 E.SPECHT
29-JUL-2010

N = 161

161 circles in a 1x0.20000 rectangle

radius =   0.018270631498
ratio  =  10.946529134454

density  = 0.844214621710
contacts = 394

 E.SPECHT
09-JUL-2010

N = 162

162 circles in a 1x0.20000 rectangle

radius =   0.018242069458
ratio  =  10.963668374122

density  = 0.846804391513
contacts = 429

 E.SPECHT
17-AUG-2010

N = 163

163 circles in a 1x0.20000 rectangle

radius =   0.018102731367
ratio  =  11.048056558305

density  = 0.839065172610
contacts = 377

 E.SPECHT
09-JUL-2010

N = 164

164 circles in a 1x0.20000 rectangle

radius =   0.018016918470
ratio  =  11.100677417900

density  = 0.836228089356
contacts = 420

 E.SPECHT
09-JUL-2010

N = 165

165 circles in a 1x0.20000 rectangle

radius =   0.017992306331
ratio  =  11.115862320172

density  = 0.839030009631
contacts = 437

 E.SPECHT
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N = 166

166 circles in a 1x0.20000 rectangle

radius =   0.017900384796
ratio  =  11.172944172830

density  = 0.835512013608
contacts = 422

 E.SPECHT
29-JUL-2010

N = 167

167 circles in a 1x0.20000 rectangle

radius =   0.017794178252
ratio  =  11.239631140626

density  = 0.830600564064
contacts = 434

 E.SPECHT
09-JUL-2010

N = 168

168 circles in a 1x0.20000 rectangle

radius =   0.017769630920
ratio  =  11.255157796981

density  = 0.833270436338
contacts = 448
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